Photos are of one of my Royal Enfields but the principal is exactly the same.

Alignment must be done separately on each cylinder.

Put a degree wheel on the primary side of the crankshaft and set to “0” at piston top dead center. Use a wrist pin and a set of parallels to move rod up so that it does not contact cases.

Gently turn the crank until it stops, move pin fore and aft slightly to get maximum reading.
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Set pointer on the degree wheel to “0”.
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Rotate crank the other direction again until it stops and note the reading..

Adjust the degree wheel to read ½ of that reading (if the reading on the wheel is 58º then rotate the wheel to 29º while keeping the crank in position against the stop.

Your wheel should now be set to read “0” at TDC on that cylinder.

This can be checked by rotating the crank against the stop in both directions, the reading should be the same.
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Install the cams using the timing marks, and with a dial indicator on top of the tappet note the degrees where the lift is as specified in the cam timing data.
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.

Adjust the position of the lobe in relation to the gear to the specified cam data.

Repeat on the other cams.

I know it seems tedious but by the last lobe you will be an expert!  

